Note on the financing task 1

(1) Sheet ‘Fund question’

Contribution income	=	Insurable earnings * contribution rate
Total expenditure	=	Benefit expenditure + administrative expenditure
Primary balance		=	Contribution income – total expenditure
Secondary balance	=	Reserve at the beginning of the year (or the end of the previous year) * (1 + interest rate) + primary balance * (1 + interest rate)^0.5
Investment income 	=	Secondary balance - primary balance
Reserves at the end of the year =	Reserves at the beginning of the year (or at the end of the previous year) + secondary balance

Reserve ratio		=	Amount of reserves at the end of the year / total expenditure

PAYG cost rate (total)	=	Total expenditure / Insurable earnings
PAYG cost rate (benefits)	=	Benefit expenditure / Insurable earnings
PAYG cost rate (admin)	=	Administrative expenditure / Insurable earnings

(2) Sheet ‘Demography question’

Demographic ratio	=	Number of beneficiaries / Number of contributors

(3) Sheet ‘Financial average question’

Average insurable earnings =	Amount of insurable earnings / Number of contributors
Average benefits		=	Amount of benefits / Number of beneficiaries
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